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BNy Jigld @t,,h Jeecdt ol
Analyzing the graphs of functions and relationships

byl s | Byl yoy £ 1,2.345, ... } 3 sl (1
The Set {1,2,3,4,5, ...... .. } is expressed by the Set builder

a) (x/x>1L,xew} |b) {x/x=0,xew} |c) {x/x<6,xEW} |d) {x/x>0,xEW}

5J}4.ﬂ11b_1l.cb‘)sﬂ_“‘::bﬁm\_l&nﬁ —35}((5 (2
-3<x <5 represent using the interval

a) [-3,5) b) (—3,5] o) (=3,5) d) [-3,5]

53alh 3G (—o0,5] Bal (3

The Inteval (—o, 5] is written with the forme

a) x<5 b) =5 €} &>5 d) =5

@i g(2) ol g(x) = 2x% +3x — 5 S 13 (4
If g (x)= 2x%2+ 3x —5theng(2)is equal

a) 2 b) 9 c) 10 d) 14
lae Le dgdal) e W) de gana 52 f(x) = e Al Jse (5
' ' X247x+12 '
5X—3
The domain of the function f(x) — is the set of real numbers except
x<+7x+12
a) {34} b) {—34} C) {—3,—41} d) {3,—4}

» g(x)=+vx—3 Al J=a (6
The domain of the function g(x) = vx—3 is

a) [3,m) b) (—0,3] c) B:x=) d) [—3,006)

1
V2X—6

#» hx)= alall Jss (7

1
\V 2X—6

The domain of the function h(X) = is

2) [3.) b (—w3] |0 G.w) ) [3%)
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gsd f(2) B f(x) = —x3 , 3<x<8 caS 1) (8

—4x + 3 , x<3

If f(x) = —x3 , 3<x<8 thenf(2)equals
3x2+1 , x>8
a) 13 b) -8 c) -5 d) >
[ [ [ [ | @l g(—4) Sl Jiall Jeatiny (9
(e =1x |<;# Using the graph g(—4) is equal to
; v
4
5 -4 |O 4 | Sx
| | 1
a) 3 b) -6 c) 6 d) 5
Aol S5 F(0) ol B Jeids (10
1 fla) = = 1
:l [T 177§ Using the graph f(0) is equal to

>
— )/—"— s

a) o b) 1 c) 1 d) A 2

by | . h(x) a)all dla.n (_ls-izlﬂ Cre (11

From the figure the domain of the function h (x)

a) [~4.4) b) (—4,4] 0 (—44) d) [—1,6]
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by h,(x) allall saa JE Cre (12
From the figure the range of the function h (x)
M
= hilx) ll
_;#/

b)

(—4,4]

) (—44)

d) [—1,6]

o
{1 :

f(x) A jlial JSall e (13
From the figure the zeros of the function f (x)

N\
L/ ) ¥
[.’1\'?:1—2 + 5x + I"':l 3
a) (32} b) 321 ) £32) d) 20
>
w1 From the figure using the symmetry test the curve is symmetric about
(9] x
—
"
3
Y= 1,'1— 3
o - b o o Point of origin d Non-symmetric
a)yo (y - Axis ) ) x0 (x is ) C i A ) -
s Gd f(=2) Sl A Jetdls (15
A
4 Using the graph f(—2) isequal to
—8 —~1/TC) 4 \‘ﬂ X
~4
V4 i :
o
| |
a) 1 b) -1 c) -2 d) 6
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) [ I byl | | 5all e sayl jie JSAIL daim gall Al (16
1h{x) = {31 + 11, x< =3
. - . * = =3 The function shown in the figure increases over the period
S-
ok =
v 0 x
i
4 =
2) (=.3] b (w2 ]9 (3 ) (=3
|"~\,{_L.-, R N +l3‘i‘ LARN! N L_SJL“:‘ X e 3‘%1;" (5“19"' a—“:‘g Lﬂ-‘ Ljs-':’ﬂ-‘ 34;"}““ ajall (17
| 'O \ - The function shown in the figure has a local maximum
1\ value of x equal to
\
i
a) 2 b) -1 c) O d) oo
by Bl L 4.8 | AL I, AN (18
- \ - . Ly )38 (g gl
fle) ==x = 2" 4 3¢ + 2x
\T" The function shown in the figure has an
\ absolute maximum value of approximately
—a \ o
X

b) -1.5 C) 3 d) 2
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The function g(x) = 2x° — 3x® + 5x g(x) = 2x° — 3x% + 5x 4l (19

It is neither Even

function nor Odd
a) function

Even function and
b) 43 3 Odd function C) Odd function d) 4:a 93 Even function
An g gy

in A Ygdag ) Cul

The function h(x) = x® — 17x* h(x) =x° —17x* 4l (20

It is neither Even

function nor Odd
a) function

Even function and
b) 433 8 Odd function C) Odd function d) ix ) Even function

. i A0 2 giag)
408 Yodimg ) Cul

—2<x<3ldeagSh fx)=x2+1 alll gl (21

How the range is the function f(x) = x? + 1 if its domainis —2 < x < 3

a) [5,10) b) (1,10] o) (5,10) d) [1,10)

5x+4 , X > 2

Jusyl gdlaie je &y = 2 = ajlall
Ju=Yl ae g 53 22 0S8 x =2 e f(x) {Z—x < (22

5x+ 4 L, x> 2

2 _ x<2 when x = 2 is disconnected and the type of non-

The function f(x) = {

contact
a) b8 b) S C) i d) 43 Jus
JL.:.S}"»PJ:.&JJ_, x =0 2 dlaie ye f(x):% a\al) (23

The function f(x) = % is disconnected at x = 0 and is disconnected

Removable

2) o5 point  |b) odesVinfinity | ) w38 jump D g
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» [48] 354l e g(x) =3x2 —8x +2 Al il Jwelaugia (24

The average rate of change of the function g(x) = 3x2 — 8x + 2 over the period [4,8] is

a) 62 b) -28 &) 2 d) 28
(f+g)00) =......: 08 g(x) =9 x¢ f(x) =x? + x : & (25
If: f(x)=x2+x ,9(x)=9x then:(f+9)(x)=.......
a) x>+ 9x b) x? +9x c) x% 4+ 10x d) x? + 8x
(f.0)() =eeee 22 g(x) =9 x¢ f(x) =x% +x ;81 (26
If:f(x)=x2+x ,g(x)=9x then :(f.g)(x)=.......
a) 9x3+9x b) 9x3 + x c) 9x3 + 9i? d) 9x2 + 9x
\| g(x) A Ge e 2V A ae a ga el iaiall 3 JSE) e (27

From the figure, the curve drawn with the parent function

74 expresses the function g (x)
fxo)=I1xl}
T 1T 1OV x
a) |x] b) |x — 4] c) |x+4| d) |x|+4
seoly | Al e ey a1 AN e o g el sl ola (KGN e (28
| / 9(x)
1t /| From the figure, the curve drawn with the parent
A ’ s N
256 711 10 44 function expresses the function g (x)
R(x}'.r:
/
I| I/’___;
767

a) (x—5)3 b) x+5 ¢ x5y d) x}-5
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The opposite figure expresses the parent function
1 \
\____________ ) =
10 N i 10
\
% 67
1
a) f(x) =Ix| by f®=[] [0 f(x)=Vx d) f(x) = =
F JSAIL da s o) Y AN s e e L lea (30
] "/[:f";i,:_—ff?—' Any of the following expresses the translation of the
_ s il e ' parent function shown in the figure
10 1 10
[
6 67
a) vx+3 b) Vx +3 €) vx—3 d) Vx—3
' y| | | | Al e o SV JSAN F(x) = 22 &Y AL AL (31
I_-]" ='(:;"(.'\') —
v With the help of the parent function f(x) = x?2, the following
ll e} \ = figure expresses the function
/
J \
14 Y
a) —* 42 b) —%—i2 C) %% 4.2 d) x2—2
(fog)(2) =....... “lgx)=a2—1¢f(x) =2x: <1y (32
i i) = 2% ; glx) = x2— Lthen: (Ffog)(2)=..-x
a) 3 b) 6 0 15 d) 4
(fog)(x) =...=x R gx) =x2—1¢ f(x) =2x -1 (33

It () =2, g(x)=ux>— Lthen: (fog)(x) = ..

a) 4x%2-2 b) x2—2 c) 4x% -1 d 2x2-2
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(gof)(x) =...... g =x2—1¢f(x)=2x 8 (34
If: f(x) =2x , g(x) = x> — 1 then: (gof)(x) =.......
a) 4x*?-2 b) x? =2 ) 4x% -1 d 2x%-2
(fog)(3) =...... LWigsf(2)=3 ,g9B)=2 ,f3)=4 , g(2)=5 sy (35

If g(2)=5.f3)=4,9g@3) =2 ,f(2) =3 thenthevalueof(fog)(3) =......

a) 5 b) 4 c) 3 d) 2
....... = f(x) = 3x2_5 T Al el 1Y (36
. . . 3x—-5
The inverse function of the function: f(x) = PR
-5 5 —
a) = b) = 0 22 d) 2x+5

i Tl (x) Lf(x)=2x—5 casly (37

If f(x)=2x—5 then f1(x)is

x+2 x—5 x+5
x—2
. = —— - 4Jlld | allal)
....... o f(x) — dnsal (38
The inverse function of the function: f(x) = i—:j iS.......
a) f=—2|b) =" |0 =" |d) fFiE=—"
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Py vl ()

y fallall sl Jaall Jiag o2l Jolaadl JCaIL sl 206l Al (39

The next questions concern the opposite figure that is the

A graph of f
N A I o Pl Jae of aa JCAIL bl
// With the help of the figure, we find that the domain of the
/ * function fis.......
|
¥
a) [-5,») b) (—,3] ) [-3,) d) R

....... & P gaa t of aas sl JSAIL ARSWYL (40
With the help of the previous figure, we find that: the range of the function fis.......

a) [-5,x) b) (—,3] c) [-3,0) d) R

_______ s Ay adaial) © f 2o Gl JIL Bl (41
With the help of the previous figure, we find that: the y-intercept of the function fis.......

a) —2 b) 0 0 2 d) —5

_______ & Pl jlaal s o aas Siludl JS3IL A3l (42
With the help of the previous figure, we find that: The zeros of the function fare.......

a) {5—-1,-3} b) {3,-1,-5} |c¢) {3,-3,-5} |d) @

Gl 3 F AT T ol aad Gl JCAIL A3tV (43

(49Using the previous figure, we find that: the function f is increasing to.......

a) (—w,—4)u  |b) (==,=3)U 0 (-3,1) d) (-, 72)U

(sle Al £ AT - f aas aldl 1L BtV (44

With the help of the previous figure, we find that: the function f is decreasing on.......

a) (—=,=3)V b) (=2,2) ) (—3,1) d) (—4,0)

A
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. SIQJLH'I ,':u-u'l

o FAA Ada ) alaad) Al o aa Gilud) JSAIL eiaNL (45

With the help of the previous figure, we find that the local maximum value of the function f

b) -3

c) 1

d) =5

o FA A ol dadll o as Giladl JSAIL BlaiulUs (46

With the help of the previous igure, we find that the local minimuim value ot the tunction f is

b) -3

c) 1

d) =5

e o P AN dalhaall 5 eal) el o aa3 (Gilud) JSEIL DlaiuNL (47

With the help of the previous figure, we find that the absolute minimum value of the

function fis.......

a) —5

b) -3

d) 4855ma s

With the help of the previous figure, we find that: the functionf.......

FAall : of am Gl JSEIL LtV (48

It is neither Even

function nor Odd
) function

A0 B Y gdia g ) Sl

b) 4,3 Odd function

Even function and
C) 0Odd function

An @ gdmg)

d) 49 Even function

(fog)(x) =...... Tl g(x)=3x+1¢f(x)=x%2—2:81y (49

It f(x)=x2—-2 , g(x) =3 x+ 1then: (fog)(x) =.......

a) 3x?-5

b) 9x? +6x—1

c) 9x*+6x-3

d) 3x2—7




